: SIAS]
+ dﬂ = dﬂ - dt _d (cosec x) = - cosec x cot x The Product Rule

_d (uv)

= vduy ydv

mijil e
T jwdx = nlf(x)| + C
f(x)
c = sec x tan X
If %Y is positive, d (sec X) = S

Wednesday, Dec. 15

Rectilinear Motion Handout
1, 3,13, 23, 24,40, 41, 43

Book Sec. 4.8 p. 316 11,17

(Must be in radians, Round answers to 6 decimal places.)

Friday, Dec. 17

Big Quiz over Rectilinear Motion
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LWa yduy ydv

=" /j&x)dx = Lnif(x) + C
f(x)

d (sec x) = sec x tan X
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1, 3,13, 23, 24,40, 41, 43

Book Sec. 4.8 p. 316 11,17

(Must be in radians, Round answers to 6 decimal places.)

Friday, Dec. 17

Big Quiz over Rectilinear Motion




